# Appendix 10

# **Mandatory Disclosure**

Mandatory Disclosure Updated On June 2024

,	
10.1 AICTE File No.	1-807394691
Date & Period of last Approval	F.No. North-West/1-43663960823/2024/EOA Dated 04-Apr- 2024
10.2 Name of the Institution	Jai Parkash Mukand Lal Innovative Engineering & Technology Institute (JMIETI)
Address of the Institution	Village Chhota Bans, Radaur, Sub Tehsil Radaur, Distt.– Yamuna Nagar
City & Pin Code	Yamuna Nagar – 135 133
State / UT	Haryana
	0 0
Longitude & Latitude	77 09' 35.17" E & 30 32' 02.37" N
Phone number with STD code	01732-283100, 650507
FAX number with STD code	01732-283100,284501
Office hours at	09:30 a.m. to 05:00 p.m.
the Institution	
Email	<u>Director@jmieti.edu.in</u>
Website	www.jmieti.edu.in
Nearest Railway	Jagadhri (YNR) (18 Kms.)

	Station(dist in Km)	
	Nearest Airport (dist in Km)	Chandigarh Airport (120 kms.)
10.3	Type of Institution	Private -Self Financed
	Category (1) of the	Non Minority
	Category (2) of the	Co-educational
10.4	Name of the organization running the Institution	The Ved Parkash Mukand Lal Educational Society, Radaur
	Type of the organization	Society
	Address of the organization	Village Chhotabans, Radaur
	Registered with	The Registrar of Societies, Yamuna Nagar
	Registration date	02.03.1987
	Website of the organization	Nil
10.5	Name of the affiliating University	Kurukshetra University, Kurukshetra
	Address	Distt Kurukshetra, Haryana
	Website	www.kuk.ac.in
	Latest affiliation period	Provisional, 132300 Dated 11/8/2017
	Name of Principal / Director(Oftg.)	Dr. Vivek Sharma
	Exact Designation	DIRECTOR (offg)

Phone number with STD	01732-283100, 82959-05215 (Mobile	*)
code		
FAX number with STD	01732-283100	
code	01732-263100	
code		
Email	director@jmieti.edu.in	
Highest Degree	PhD.	
Field of specialization	Computer Sci.& Engg.	
riola di opodializationi	Computer Coma Engg.	
Governing Board		
Members	Seth Ashok Kumar	Chairman
	KCT Block, 2nd Floor,	
	Rishyamook, 85-A,	
	Panchkuian Road, New Delhi-110001	
	<ol><li>Sh.Vijay Kumar</li></ol>	Vice- Chairman
	Flat No. 212	
	2nd Floor	
	Golf Apts., Sujan Singh Park New Delhi	
	New Benn	
	3. Dr. K.L. Johar	Vice- Chairman
	Former Vice Chancellor	
	Guru Jambheshwar University,	
	Hisar,521-L, Model Town, Yamuna Nagar	
	Tamuna Nagai	
	4. Dr. Ramesh Kumar	General Secretar
	# 1152, Sector 17,	
	HUDA, Jagadhri	
	District Yamuna Nagar	
	5. Dr. D.K. Modi	Member
	Member nominated by the	
	Society	
	6. Sh. Raman Saluja	
	Managing Director,	Member
	Oriental Engg. Works,Yamuna Nagar.	
	7. Sh. Ishwar Aggarwal	
	Member nominated by the	Member

	Society 8. Sh. Sunil Chandra Member nominated by the Society	Member
	<ol> <li>Sh. Ravi Jaidka</li> <li>Member nominated by the Society</li> <li>Sh. Kapil Gupta</li> </ol>	Member
	Joint Managing Director, Polyplastic Industries Pvt. Ltd., Yamuna Nagar	Member
	<ul> <li>11. Ms. Nidhi Saluja</li> <li>12. Sh. Gian Parkash Sharma Educationist Member</li> <li>13. Sh. Anil Budhiraja Educationist Member</li> <li>14. Dr. Vikash Daryal Educationist Member</li> <li>15. The Regional Officer, AICTE, Chandigarh</li> </ul>	Member
	16. The Director Technical Education, Haryana Panchkula	
	<ul> <li>17. Ms. Upasana Sood</li> <li>Member (Faculty Member)</li> <li>18. Dr. Prerna Grag</li> <li>Member (Faculty Member)</li> <li>19. Dr. Vivek Sharma</li> </ul>	
	Director /Member Secretary	
Frequency Of meeting & Date of Last meeting	Thrice in a year, last meeting	held on 05.06.2024
Academic Advisory Body	Vice-Chairman, General	Secretary ,Director, Admin Officer.
Frequency of meeting & Date of last meeting	Quarterly 05.06.2024	
Organizational Chart	Annexure-1(Attached)	
Student Feedback	Regular Feedback is obtained	from the students in a
Mechanism on institutional Governance/faculty	Performa designed for the purpose	
Grievance redressed	We have committees at differer	nt Levels for redressal of
Mechanism for Departmental Details Faculty Details	Grievances of faculty, staff and Annexure-2 (attached) Annexure-3 (attached)	Students

#### 10.14 Admission Quota N.A

Entrance test / admission

**AIEEE Test** 

criteria

**Admission Status** 

Name of Course B.Tech (2024-2025)

Branch Sanctioned Intake

CSE Engineering 60 CSE (AIML) 60 Civil Engineering 30

BCA 60

Fees in rupees

Annexure-4(Attached) 24

Number of Fee Waivers

Offered

Admission Calendar As per DTE Haryana

PIO quotaNO

**Infrastructural** information

Classroom/Tutorial

Class Rooms = 21 ,Tutorial Rooms = 06

Room facilities

Annexure 5(Attached)

# Library facilities







S.No.	Courses	Number	Number	Journals		
		of Titles	of Volumes	National/ International	Online Journals	
1.	Artificial Intelligence & Machine Learning	123	373	06	DELNET	
2.	Computer Science & Engineering	364	4895	06	MEMBERSHIP 5000+ E-	
3.	Electronics & Comm. Engineering	300	3388	00		
4.	Mechanical Engineering	339	3690	00		
5.	Civil Engineering	289	3573	06		
6.	Applied Science	240	2255	00		
		1532	17801	12		

- Fully ComputerizedVideo Cassettes and CD ROM
- > Internet
- ➤ Book Bank

	Auditorium / Seminar Halls / Amphi	04 well furnished Seminar Halls with sitting capacity of 120 students each.		
	Cafeteria	Wall Eurnighed Cafetoria with citting apposity of 150 students		
	Caleteria	Well Furnished Cafeteria with sitting capacity of 150 students.		
	Indoor Sports	We have TT Tables Chess Boards, Carom Boards.		
	facilities			
	Outdoor Sports facilities	We have ground for football, basket ball, volleyball, ball badminton, softball, baseball, cricket, athletics.		
	Gymnasium	Provided in Boys Common Room:		
	facilities			
		06 set dumbles with stand		
		01 jogger 02 exercise cycles		
		01 number 06 station Multigym weight lifting equipment with multibench Girls Common Room:		
		1 Jogger		
		2 Exercise cycles		
	Facilities for	Yes		
	Disabled			
_	Any other facilities	NA		
	Arry other racindes			
10.16 E	Boys Hostel	04		
	Girls Hostel	01		
	Medical & other Facat Hostel	1. Full time hostel warden is appointed to look after the students. 2. At the time of admission, the students are examined by Medical officer of the Institute.		

3. First aid box with medicines is available in each

hostel. Medical officer visits on all working days.
4. 24 hours ambulance is provide to the students

in case of any sickness as and when required. Hospitals have been tied up at Radaur and Yamuna Nagar.

- 5. Newspaper, magazines are also provided to the students in the hostel
- 6. Solar water heating system is available
- 7. Aqua guards are fixed with water coolers.
- 8. TATA sky cable system is proved in eachhostel.
- 9. Library up to 8:00 p.m. remains open to all the students.
- 10. Internet/Wi-Fi system is also available in campus.
- 11. Room cleaning and hostel cleaning work is done bythe college sanitation staff.
- 12. Under the guidance of Sports officer, students are provided lush green sports grounds, indoor badminton, cricket, volleyball, basketball and football.

Hostel Allotment position of various hostels				
Hostel Capacity				
A-Block	107			
C-Block	150			
D-Block	124			
Girls Hostel	75			
Total	325			

	sity direction
Examination System, Year/Sem. Semester Based	
Period of declaration of As per Kurukshetra University results	

	results	
10.18	Counseling/Mentoring	
	Carrer Counseling	Guest Lectures, Workshops are conducted time to time
	Medical Facilities	Dispensary in the campus and Swaraj Devi hospital in Radaur
	Student Insurance	Each student is insured for 2.5 Lakhs Rs. with Student Safety Policy Purchased by the Institute

10.19	Student activity body		
	Cultural activities	The students of JMIETI have always actively participated in cultura activities. This year i.e. 2024, the students participated in a num	
		ofevents at intra college level.	
		The students of JMIETI have always actively participated in Sports	
	Sports activities	activities. This year i.e 2024 the students participated in a number of events at intra college level.	
	Literary activities	NA	
	Literary activities	INA	
	Magazine/newsletter	Proposed to Publish once in a Year	
	Technical	The students of JMIETI have participated in Tech – Fest	davia
	activities/TechFest	organized by each deptt actively. The Tech Fest of one was organized this year by each deptt individually. The events were organized to develop technical to skills of	days
		students.	
	lo du atrial viait/Taura		
	Industrial visit/Tours	The students of JMIETI visited various industrial in there area Latest visited : Sebiz square, Mohali for cse students .	•

10.20 Name of the information	Sh. Om Parkash Bathla
Designation	Admin Officer
Phone no with STD code	01732-284501
FAX no with STD code	
Email	bathlaom1@gmail.com

# INTERNAL COMMITTEES

#### Central Time-Table Committee

Mr. Tajinder Kumar

Mr. Pankaj Kumar

Ms. Sonam Kamboj

#### Grievance & Redressal Committee

Pt. Gian Parkash, Member, BOG

Mrs. Shashi Bathla, Director Mukand School

Ms. Upsana Sood, Convener

Dr. Tanvi Gupat A.P., CVE

Ms. Punam Kalra HOD, AS&H

#### Cultural & Sports Committee

Ms. Punam Kalra

Dr. Vishal Garg

Ms. Medha Vashist

#### **Examination Committee**

- Dr. Vishal Garg
- Mr. Tajinder Kumar
- Ms. Priyanka Kamboj

#### Mess/Canteen Committee

Dr. Prerna Garg

Ms. Medha Vashist

Mr. Shiv Dutt.

Mr. Parveen Kumar

Mr. Humanshu

Ms. Darshdeep

#### Discipline Committee

- Dr. Vishal Garg
- Dr. Prerna Garg
- Mr. Tajinder Kumar

#### **Internal Complaint Committee**

- Ms. Upasna Sood, Convener
- Dr. Tanvi Gupat A.P., CVE
- Dr. Vandana, A.P. JMIT
- Mr. Devinder Kumar, Office Supdt.
  - Mr. Bhushan, Librarian
- Ms. Megha (8519130) 4<sup>th</sup> yr. student

#### Anti-Ragging Squad Committee

- Sh. O. P. Bathla, Admin. Officer
- Mr. Tajinder Kumar, AP, CSE
- Ms. Upasana Sood, HOD, CSE
- Ms. Punam Kalra, HOD, App. Sc.
- Dr. Tanvi Gupat, Incharge CVE
- Dr. Prerna Garg, Associate Prof. AS&H
- Dr. Vishal Garg, A.P. CSE
- Dr. Tajinder Kumar, Incharge BCA
- SHO, Radaur
- Sh. Nabh Singh Malik, Press Reporter
- Mr. Kulvinder Singh, Parent
- Mr. Mayank Pratap (8521231) Student
- Mr. Shivam Kimothi (8520568) Student
- Mr. Himanshu Prajapati, (8521221) Student

#### **Faculty Details**

#### **Director**

C Na	Name Of The	Doriometica	Qualification With Field of Specialization		
S. No.	No. Teaching Faculty Designation	UG/PG	Doctorate	Regular/Contract	
1.	Dr. Vivek Sharma	Director (Oftg.)	B.Tech, M.Tech.	Ph.D (CSE)	Regular

#### **Applied Science**

	Name Of The	Designation	Qualification	alization	
S. No.	Teaching Faculty	(Assoc. Prof./Asst. Prof.)	UG/PG	Doctorate	University Ids
1.	Ms. Punam Kalra	Asst. Prof./ HOD	M. Sc. (Maths) M. Phil (Maths)		Regular
2.	Dr. Prerna Garg	Associate Prof.	B.Sc. M.Sc. (Phy.)	Ph.D.	Regular
3.	Dr. Niti Sakhuja	Asst. Prof.	B.Sc. (Med.) M.Sc. (Chem.)	Ph.D.	Regular
4.	Ms. Medha Vasisht	Asst. Prof.	MBA		Contract
5.	Dr. Vinay Gaur	Asst Prof.	M.Sc. (Math)	Ph.D.	Contract
6.	Ms. Shweta	Asst. Prof.	M.Sc. (Bio)		Contract
7.	Mr. Abhishek Dhiman	Asst. Prof.	B.Tech, M.Tech	Pursuing	Contract
8.	Dr. Neha	Asst. Prof.	B.Tech., M.Tech.	Ph.D.	Contract

## **Civil Engineering**

a	Name Of The	nme Of The Designation		Qualification With Field of Specializ			
S. No.	Teaching Faculty	(Assoc. Prof. /Asst. Prof.)	UG/PG	Doctorate	Regula		
1.	Dr. Tanvi Gupta	Asst. Prof	B.Tech., M.Tech	Ph.D.			
2.	Mr. Sukhdev Singh	Asst. Prof.	B.Tech., M.Tech				
3.	Ms. Rinki Devi	Asst. Prof.	B.Tech., M.Tech.				
4.	Mr. Karan Vadhera	Asst. Prof.	B.Tech., M.Tech.				
5.	Mr. Pankaj	Asst. Prof.	B.Tech., M.Tech.				
6.	Mr. Mandeep Munday	Asst. Prof.	B.Tech., M.Tech.				

## **Computer Science & Engineering**

S. No.	Name Of The Teaching Faculty	- 100 0		on WithField of S	pecializati
			UG/PG	Doctorate	Univer
1.	Mrs. Upasana Sood	Asst. Prof/ HOD	B.Tech, M.Tech		Re
2.	Dr. Vishal Garg	Asst. Prof	B.Tech, M.Tech	Ph.D.	Re
3.	Mrs. Priyanka Kamboj	Asst. Prof.	M.Sc, M.Tech	Pursuing	Re
4.	Ms. Sonam Kamboj	Asst. Prof.	B.Tech (CSE M.Tech (CSE)		Co
5.	Ms. Trisha Rani	Asst. Prof.	B.Tech (CSE M.Tech (CSE)		Сс
6.	Ms. Priyanka Dabur	Asst. Prof.	B.Tech. (IT) M.Tech. (CSE)		Сс
7.	Mr. Sumit Kumar Mahana	Asst. Prof.	B.Tech (CSE M.Tech (SE)	Pursuing	Co

#### **Computer Science & Engineering (AI&ML)**

S. No.	Name Of The Teaching Faculty	<del>g</del>		on With Field of	Specializati
			UG/PG	Doctorate	Univer
1.	Ms. Ruchi Gupta	Asst. Prof.	B.Tech (EE M.Tech (CSE)		Co
2.	Mr. Shiv Dutt.	Asst. Prof.	B.Tech. (CSE) M.Tech. (CSE)		Co
3.	Mr. Ravi Kumar	Asst. Prof.	B.E. (CSE) M.Tech. (CSE)		Co
4.	Ms. Rachna	Asst. Prof.	B.Tech. (CSE) M.Tech. (CSE)		Co
5.	Ms. Tamanna Rani	Asst. Prof.	B.Tech (CSE M.Tech (CSE)		Co

# **Bachelor of Computer Application**

S. No.	Name Of The Teaching Faculty			Qualification With Field of Spec		
			UG/PG	Doctorate	Univer	
1.	Dr. Tajinder Kumar	Asst. Prof.	M.Sc, M.Tech	Ph.D.	R	
2.	Dr. Ashish Chopra	Asst. Prof.	B.Sc. (CSE) MCA	Ph.D.	Con	
3.	Ms. Priya Sandal	Asst. Prof.	B.Sc. (CSE) M.Sc. (CS)		Co	
4.	Mr. Vijay Kumar	Asst. Prof.	B.Sc. (CSE) M.Sc. (CS)		Co	
5.	Ms. Komal	Asst. Prof.	B.Sc. (CSE) MCA		Co	
6.	Mr. Mohit Kumar Vashistha	Asst. Prof.	B.Sc. (CSE) MCA		Co	

#### PLACEMENT DETAILS OF 2024 PASSING OUT BATCH STUDENTS – JMIETI, RADAUR

Sr. No.	Name of Company	Date	Package in Rs. LPA	On Campus/ Off Campus	No. of Selections
1.	Space Fire Studios, New Delhi	05.08.2023	7.00	Off Campus (Co. premises)	1
2.	Bajaj Finance Ltd., Mumbai	28.08.2023	4.93 - 5.68	On Campus (Online)	7
3.	SwigCode Solutions Pvt. Ltd., Ladwa	05.09.2023	2.52	Off Campus (Co. premises)	1
4.	Daffodil Software Ltd., Hisar	19.09.2023	6.00	On Campus (JMIT)	2
5.	Archer & Bull, Delhi	20.09.2023	7.35	On Campus (Online-TIMT)	0
6.	Pearce Services, Mohali	22.09.2023	3.00	On Campus (Co. premises)	0
7.	CodeQuotient, Mohali	26.09.2023	4.50-5.00	On Campus (JMIT)	2
8.	Compaq International (P) Ltd., Shadipur, Yamuna Nagar	05.10.2023	2.40	Off Campus (Co. premises)	1
9.	Orbit & Skyline India Pvt. Ltd., Mohali	07.10.2023	3.50-5.50	On Campus (Co. premises)	0
10.	Blessings Healthcare (P) Ltd., Solan	10.10.2023	3.00	On Campus (Co. premises)	1
11.	Emicon Advisory Services, Mohali	11.10.2023	4.20	On Campus (JMIT)	11
12.	Cloud Analogy CRM Specialist Ltd., Mohali	13.10.2023	3.50	On Campus (JMIT)	8
13.	Arvind Fashion, Ludhiana	16.10.2023	3.00	Off Campus (HGI, Kala Amb)	0
14.	Planet Spark, Gurugram	26.10.2023	6.50	On Campus (JMIT)	2
15.	IndiaMART InterMesH Ltd., Noida	02.11.2023	3.00-3.60	On Campus (Online-TIMT)	7
16.	Avi Software, Mohali	06.11.2023	4.00	On Campus (Online-MLNC)	4
17.	Busy Infotech, Delhi	08.11.2023	5.00	On Campus (Online)	0
18.	Grazitti Interactive, Panchkula	29.11.2023	3.00	On Campus (JMIT)	4
19.	Zversal Pvt. Ltd., Mohali	30.11.2023	3.20	On Campus (Online)	4
20.	75Way Technologies, Panchkula	01.12.2023	4.20-6.00	On Campus (Online)	6
21.	A.J. Infrastructure Pvt. Ltd., Kala Amb	08.12.2023	2.50	Off Campus (Co. premises)	1
22.	TSM TheSafetyMaster Pvt. Ltd., Bhiwadi	11.12.2023	3.00	On Campus (telephonic/online)	2
23.	Spectrum Diagnostic Laboratory & Research Centre, New Delhi	12.12.2023	2.58	On Campus (JMIT)	4
24.	JK Electric Engineers Pvt. Ltd., Jammu	14.12.2023	4.56	Off Campus (Co. premises)	1
25.	EduKyu Pvt. Ltd., Noida	29.12.2023	4.98	On Campus (JMIT)	0
26.	Hence Digital Telematics Pvt. Ltd., Yamuna Nagar	30.12.2023	2.40	On Campus (Co. premises)	1
27.	Hike Education, Gurugram	12.01.2024	3.00-5.82	On Campus (JMIT)	4

28.	Hence Digital Telematics	16.01.2024	2.40	Off Campus	1
20.	Pvt. Ltd., Yamuna Nagar	10.01.2024	2.40	(telephonic/ Co.	1
	1 vi. Eta., Tamana Tugar			premises)	
29.	V-Konnect, Gurugram	18.01.2024	2.50	On Campus (Online-	3
				TIMT)	
30.	Motilal Oswal, Delhi	18.01.2024	3.00	On Campus (Online-TIMT)	0
31.	Bajaj Allianz Life Insurance	23.01.2024	3.00-3.50	On Campus (JMIT)	11
	Company Ltd., New Delhi			• • • • • • • • • • • • • • • • • • • •	
32.	JST PVT. LTD., Kurukshetra	24.01.2024	2.50	On Campus (JMIT)	21
33.	Chanderpur Works Pvt. Ltd.,	25.01.2024	2.50	On Campus (JMIT)	2
34.	Yamuna Nagar SRVA Education, Gurugram	25.01.2024	5.46	On Campus (Online)	1
35.	E Street IT Solutions Pvt.	25.01.2024	2.40	• •	2
33.	Ltd., Chandigarh	25.01.2024	2.40	On Campus (TIMT)	2
36.	BRB Innovations, Rohtak	25.01.2024	3.70	Off Campus (Online)	1
37.	Bricksnwall, Noida	31.01.2024	3.60	Off Campus (Online	1
				C.U., Rajpura)	
38.	Colormann Private Limited, New Delhi	01.02.2024	2.50	Off Campus (Online)	1
39.	ISGEC Heavy Engineering Ltd., Yamuna Nagar	03.02.2024	4.44	On Campus (Co. premises)	1
40.	Extech Digital, Mohali	03.02.2024	3.00	Off Campus (Online)	2
41.	Shiv Enterprises, Gurugram	04.02.2024	3.50	Off Campus (Online)	1
42.	HDB Financial Services Limited, Mohali	05.02.2024	2.40	On Campus (MLNC)	2
43.	ICICI Prudential Life Insurance, Chandigarh	06.02.2024	2.50	On Campus (TIMT)	1
44.	LDT Technology, Zirakpur	08.02.2024	2.40	On Campus (JMIT)	6
45.	Chanderpur Works Pvt. Ltd., Yamuna Nagar	08.02.2024	2.50	On Campus (JMIT)	1
46.	Surendra Motors, Karnal	08.02.2024	3.00	Off Campus (Co. premises)	1
47.	Garg Industries, Meerut	08.02.2024	4.50	Off Campus (Online)	1
48.	Xenon Stack, Mohali	09.02.2024	3.00	On Campus (Online)	3
49.	HCode Technologies Pvt. Ltd., Karnal	09.02.2024	4.00	Off Campus (Online)	1
50.	Nectar Lifesciences Ltd., Derabassi	16.02.2024	2.89	On Campus (JMIT)	4
51.	Code Brew Labs, Chandigarh	19.02.2024	2.50	On Campus (Co. premises)	4
52.	Profession Hike, Chandigarh	24.02.2024	4.44	Off Campus (Online)	1
53.	APPWRK IT Solutions Pvt. Ltd., Mohali	26.02.2024	3.00	Off Campus (Online)	1
54.	Piramal Finance, Noida	27.02.2024	2.50	On Campus (TIMT)	6
55.	Anandtexo Overseas Pvt. Ltd., Panipat	28.02.2024	6.50	Off Campus (Online)	1
56.	CodeQuotient, Mohali	29.02.2024	3.60	On Campus (JMIT)	2
57.	Aspirefox, Mohali	02.03.2024	3.00	On Campus (JMIT)	4
58.	JST PVT. LTD., Kurukshetra	12.03.2024	2.50	On Campus (JMIT)	17
59.	Dynamics Monk, New Delhi	12.03.2024	2.50-3.00	On Campus (JMIT)	0
60.	Maya Travels Pvt. Ltd.,	13.03.2024	2.40	On Campus (JMIT)	1
	Ladwa			(01,111)	-

	Students Placed	JMIT – 215		JMIETI- 15`	230
	No. of Offers	JMIT – 262	1	JMIETI- 17	279
04.	Gurugram	03.07.2024	3.30	premises)	1
84.	Kurukshetra Radicle Software Pvt. Ltd.,	03.07.2024	3.50	On Campus (Co.	1
83.	Digizion Pvt. Ltd.,	28.06.2024	3.50	On Campus (JMIT)	6
82.	Dynamics Monk, New Delhi	14.06.2024	3.50	On Campus (JMIT)	6
81.	NNM Group, New Delhi	12.06.2024	2.40	On Campus (JMIT)	5
80.	Appventurez Mobitech Pvt. Ltd., Noida	08.06.2024	3.60	on Campus (JMIT)	5
79.	Aspirefox, Mohali	04.06.2024	2.76	On Campus (Online/Co.	3
78.	PBPartners, Gurugram	28.05.2024	3.50	On Campus (Online)	4
77.	ARCS Infoech, Mohali	26.05.2024	3.00	On Campus (Online/Co. premises)	5
76.	Meritech Software Pvt. Ltd., Mohali	22.05.2024	4.00	Off Campus (Online)	2
75.	Verikraft Solutions Pvt. Ltd., Mohali	15.05.2024	3.75	On Campus (JMIT)	3
74.	Manras Technologies, Chandigarh	08.05.2024	3.50	On Campus (JMIT)	16
73.	FarEye Technologies Pvt. Ltd., Noida	06.05.2024	5.00	Off Campus (Online)	2
72.	Polyplastics Industries India Pvt. Ltd., Yamuna nagar	19.04.2024	3.02	On Campus (Co. premises)	2
71.	Sagar Defence Engineering Pvt. Ltd., Mumbai	17.04.2024	3.50	On Campus (Online)	9
70.	Amber Enterprises India Pvt. Ltd., Rajpura	12.04.2024	2.80	On Campus (Co. premises)	0
69.	Avitinfotech, Mohali	04.04.2024	2.50	Off Campus (Online)	1
68.	Infostride Technologies Pvt. Ltd., Mohali	04.04.2024	3.00	Off Campus (Online)	1
67.	Solitaire Infosys Pvt. Ltd., Mohali	30.03.2024	3.60	On Campus (Co. premises)	5
66.	eNest Technologies Pvt. Ltd., Mohali	27.03.2024	3.00	On Campus (Co. premises)	2
65.	Vrinda Global, Karnal	22.03.2024	2.40	On Campus (Online)	3
64.	InsuranceDekho, Gurugram	22.03.2024	3.50	On Campus (Online)	5
63.	LDT Technology, Zirakpur	21.03.2024	2.40	Off Campus (Co. premises)	1
62.	Piramal Finance, Noida	21.03.2024	2.50	On Campus (MLNC)	2
61.	De Facto Infotech, Mohali	15.03.2024	2.50	On Campus (JMIT)	11

#### (b) <u>COMPANY WISE PLACEMENT DETAILS – JMIT/JMIETI</u>

#### **Total no. of students placed:**-

Session	Category LPA	A 5.00 –	B 4.00 –	C 3.00 -	D 2.40 -	E Less than	Total (A+B+C+D+E)
		32.06	4.99	3.99	2.99	2.40	(====,
2023-24	Students placed	16	31	105	78	0	230
2022-23	Students placed	110	43	119	51	3	326
2021-22	Students placed	47	88	171	39	0	345

#### Total no. of offers:-

Session	Category LPA	A 5.00 – 32.06	B 4.00– 4.99	C 3.00 - 3.99	D 2.40 - 2.99	E Less than 2.40	Total (A+B+C+D
2023-24	Offers	16	33	124	106	0	+E) 279
2023-24	Offers	120	58	159	69	3	409
2021-22	Offers	78	119	295	49	0	541

S.No.	Name of Company/Industry	Offered Package in Rs. LPA	Total No. of Offers				
Catego	ory - A						
1.	Space Fire Studios, New Delhi	7.00	1				
2.	Planet Spark, Gurugram	6.50	2				
3.	Anandtexo Overseas Pvt. Ltd., Panipat	6.50	1				
4.	Daffodil Software Ltd., Hisar	6.00	2				
5.	75Way Technologies, Panchkula	6.00	4				
6.	Hike Education, Gurugram	5.82	3				
7.	SRVA Education, Gurugram	5.46	1				
8.	FarEye Technologies Pvt. Ltd.,	5.00	2				
	Noida						
Total A							
Catego	ory – B						
9.	Bajaj Finance Ltd., Mumbai	4.93	7				
10.	JK Electric Engineers Pvt. Ltd., Jammu	4.56	1				
11.	CodeQuotient, Mohali	4.50	2				
12.	Garg Industries, Meerut	4.50	1				
13.	Profession Hike, Chandigarh	4.44	1				
14.	ISGEC Heavy Engineering Ltd., Yamuna Nagar	4.44	1				
15.	Emicon Advisory Services, Mohali	4.20	11				
16.	75Way Technologies, Panchkula	4.20	2				
17.	Avi Software, Mohali	4.00	4				
18.	HCode Technologies Pvt. Ltd.,	4.00	1				

	Karnal			
19.	Meritech Software Pvt. Ltd.,	4.00		2
	Mohali			
			Total B	33

Catego	ory – C		
20.	Verikraft Solutions Pvt. Ltd.,	3.75	3
	Mohali		
21.	BRB Innovations, Rohtak	3.70	1
22.	IndiaMART InterMesH Ltd.,	3.60	5
22.	Noida	2.00	
23.	Bricksnwall, Noida	3.60	1
24.	CodeQuotient, Mohali	3.60	2
25.	Solitaire Infosys Pvt. Ltd., Mohali	3.60	5
26.	Appventurez Mobitech Pvt. Ltd.,	3.60	5
20.	Noida	3.00	
27.	Cloud Analogy CRM Specialist	3.50	8
27.	Ltd., Mohali	2.20	
28.	Bajaj Allianz Life Insurance	3.50	3
20.	Company Ltd., New Delhi		
29.	InsuranceDekho, Gurugram	3.50	5
30.	Shiv Enterprises, Gurugram	3.50	1
31.	Sagar Defence Engineering Pvt.	3.50	9
	Ltd., Pune		
32.	Manras Technologies, Chandigarh	3.50	16
33.	PBPartners, Gurugram	3.50	4
34.	Dynamics Monk, New Delhi	3.50	6
35.	Digizion Pvt. Ltd., Kurukshetra	3.50	6
36.	Radicle Software Pvt. Ltd.,	3.50	1
	Gurugram		
37.	Zversal Pvt. Ltd., Mohali	3.20	4
38.	Polyplastics Industries India Pvt.	3.02	2
	Ltd., Yamuna nagar		
39.	IndiaMART InterMesH Ltd.,	3.00	2
	Noida		
40.	Grazitti Interactive, Panchkula	3.00	4
41.	Blessings Healthcare (P) Ltd.,	3.00	1
	Solan		
42.	Hike Education, Gurugram	3.00	1
43.	Bajaj Allianz Life Insurance	3.00	8
	Company Ltd., New Delhi		
44.	Xenon Stack, Mohali	3.00	3
45.	TSM TheSafetyMaster Pvt. Ltd.,	3.00	2
	Bhiwadi		
46.	Aspirefox, Mohali	3.00	4
47.	Surendra Motors, Karnal	3.00	1
48.	Extech Digital, Mohali	3.00	2
49.	Appwrk IT Solutions Pvt. Ltd.,	3.00	1
	Mohali		
50.	eNest Technologies Pvt. Ltd.,	3.00	2
	Mohali		
51.	Infostride Technologies Pvt. Ltd.,	3.00	1

	Mohali				
52.	ARCS Infoech, Mohali		3.00	5	
			Total C	124	
Catego	ory - D				
53.	Nec	tar Lifesciences Ltd., l	Derabassi	2.89	4
54.	Asp	irefox, Mohali		2.76	3
55.	Spe- Dell	ctrum Diagnostic Labo hi	oratory, New	2.58	4
56.	Swi	gCode Solutions Pvt. l	Ltd., Ladwa	2.52	1
57.	A.J.	Infrastructure Pvt. Ltd	d., Kala Amb	2.50	1
58.	JST	PVT. LTD., Kuruksho	etra	2.50	38
59.	V-K	Connect, Gurugram		2.50	3
60.	Cha Nag	nderpur Works Pvt. Lt ar	td., Yamuna	2.50	3
61.		CI Prudential Life Insundigarh	rance,	2.50	1
62.	Cod	e Brew Labs, Chandig	garh	2.50	4
63.	Pira	mal Finance, Noida		2.50	8

Categ	ory - D						
64.	Colormann Private Limited, New	2.50	1				
	Delhi						
65.	De Facto Infotech, Mohali	2.50	11				
66.	Avitinfotech, Mohali	2.50	1				
67.	Compaq International (P) Ltd.,	2.40	1				
	Shadipur, Yamuna Nagar						
68.	Hence Digital Telematics Pvt. Ltd.,	2.40	2				
	Yamuna Nagar						
69.	E Street IT Solutions Pvt. Ltd.,	2.40	2				
	Chandigarh						
70.	HDB Financial Services Limited,	2.40	2				
	Mohali						
71.	LDT Technology, Zirakpur	2.40	7				
72.	Maya Travels Pvt. Ltd., Ladwa	2.40	1				
73.	Vrinda Global, Karnal	2.40	3				
74.	NNM Group, New Delhi	2.40	5				
Total D 106							
Categ	ory – E						
-		-	_				
	Total No. of Of	ffers (A+B+C+D+E) 2'	<b>79</b>				

# (c) Placement drives planned The proposed schedule of campus placement drives for 2023-24 session.

Sr. No.	Name of company	On campus/ Off campus	Date/Schedule of placement drive	Branches considered
1.	Inetbuild.Com LLP, Mohali	On Campus	2 <sup>nd</sup> Week of July	B.Tech.(CSE & IT)
2.	Infostride Technologies Pvt. Ltd., Mohali	On Campus	2 <sup>nd</sup> Week of July	B.Tech.(CSE & IT)
3.	Step2gen Technologies Pvt. Ltd., Mohali	On Campus	3 <sup>rd</sup> Week of July	B.Tech.(CSE & IT)
4.	Indosaw, Ambala Cantt	On Campus	3 <sup>rd</sup> Week of July	B.Tech. (ME) & MBA
5.	Pearce Services, Mohali	On Campus	4 <sup>th</sup> Week of July	B.Tech. (ME & Civil)
6.	GNA Enterprises, Phagwara	On Campus	4 <sup>th</sup> Week of July	MBA (HR)
7.	Capgemini, Noida	On Campus	1st Week of August	BCA & BBA
8.	OATI, Mohali	On Campus	1 <sup>st</sup> Week of August	B.Tech.(CSE,ELE & IT)
9.	Coforge Ltd., Noida	On Campus	2 <sup>nd</sup> Week of August	B.Tech. (CSE & IT)

#### **Guest Lecture**

Sr. No.	Date eptt.	Name of the resource person	Designation & full address	Topic	Year	No. of students	Remarks
1.	17-02-2024	Mr. Anil Tiwari	Technical Expert IBM Skillbuild	Generative A.I.	3 <sup>rd</sup> & 4 <sup>th</sup> year	60	CSE & AIML
2.	23-02-2024	Mr. Arun	Network Administrator, Falconet Kuruksehtra	Networking	3 <sup>rd</sup> year	50	CSE & AIML
3.	27-02-2024	Mr. Shubham Chaudhary	Technical Expert, Think Next Pvt. Ltd., Mohali	Cyber Security	3 <sup>rd</sup> & 4 <sup>th</sup> year	55	CSE & AIML
4.	09-05- 2024	Mr. Somiron Mitra	Technical Head & AI Expert, Hoping Mind Mohali	Aiml Technologies and live demonstration on real time application	2nd & 3rd year	74	CSE & AIML
5.	14-05- 2024	Mr. Rahul	Managing Director,Sensation Solutions,Mohali	Exploring your skills with mind boggling	2nd & 3rd year		CSE & AIML
Applie	d Science & Hu	manities & PDP					
6.	19-02-2024	Komal Mohindru	Deputy commandant ,officer Indian coast Guard	Leadership skills	All Branches	110	B,Tech & BCA
7.	15-03-2024	Sh.Chanderka nt Kataria	SDM,Radaur	Career guidance	All Branches	120	B.Tech & BCA
8.	29-03-2024	Dr. Ashok Verma	Sub Inspector	Drugs Addiction	All Branches	205	B.Tech & BCA (02 Sessions)
9.	06-05-2024	Mr. Ankur Aggarwal	CEO, Chai Vyanjan	Stress Management and Personality Development	All Branches	200	B.Tech & BCA
Civil E	ngg.						
10	24-03-2024	4 Mr. Sumit Kumar	Executive Engine Irrigation and W Resources Departs Government of Ha	ater nent,	Aspects Civ il En gg.	30	B.Tech Civil
11	24-04-2024	4 Mr. Sumit Kumar	Executive Engin Irrigation and W Resources Departi Government of Ha	ater nent,		25	B.Tech Civil

#### Workshop

Sr.	Date	Name of the	Designation & full address	Topic	Year	No. of	Remarks			
No.	2 44	resource person				students				
CSE I	CSE Deptt.									
1.	15.02.2024, 20.02.2024,	Mr. Vishal Kapoor	Software Trainer, Next Algorithm, Yamuna Nagar	Web Development (Advanced JS)	2 <sup>nd</sup> year	33	CSE & CSE			
	21.02.2024, 22.02.2024,	··· <b>F</b>	<i>g ,</i>				AIML			
	28.02.2024,									
	29.02.2024									
	06.03.2024 14.03.2024									
2.	07-03-2024	Mr. Dhruv Goyal	Sr Data Scientist,Sr	Machine Learning using	CSE	40	CSE &			
			Consultant-AI,MCN solutions pvt ltd,Noida	Business Statitics	AIML 2nd Yr		CSE AIML			
3.	06-03-2024	Mr. Vishal	Software Trainer, Next	Web development	CSE 2nd	35	CSE &			
	to 14-03- 2024	Kapoor	Algorithm, Yamuna Nagar	(advanced JS)	Yr		CSE AIML			
4.	01-04-2024	Mr. Kapil Partap	Managing Director	Full Stack, JS Node	CSE &	60	CSE &			
	to 04-04-		Mindcode Lab, Delhi		CSE		CSE			
	2024				AIML 3rd year		AIML			
5.	18-04-2024	Ms. Anjali	Software Developer Solitaire	Advance JAVA	CSE &	65	CSE &			
		Sharma	Infosys Pvt., Ltd Mohali,		CSE AIML		CSE AIML			
6.	16-05-2024	Mr. Kawaljeet	Iofence Trainings, YNR	Cyber Security	CSE 2nd	40	CSE &			
		Singh			Yr		CSE AIML			
Bache	elor of Comput	er Application					AIML			
1	24-02-2024	Mr. Jaswinder	Senior Manager, Tata	Expert System	BCA 1st	40	BCA			
		Tanwar	Communications Pvt. Ltd., New Delhi		year & CSE 2 <sup>nd</sup>					
			New Dellii		yesr					
Civil	Engg.				•					
1	08 &09-02-	Organizer	Organised by UNESCO	Global Symposium on	Civil 3 <sup>rd</sup>	10	Civil			
	2024			recent advancement and	& 4 <sup>th</sup>					
				the ay forward in confined masonry	year					
				construction practice						

Appli	ed Science and	<b>Humanities Deptt</b>					
1.	17-02-2024	Mr. Amit Tiwari	Entrepreneur & Researcher in AI Driving own company in food & digital marketing sector IBM	Generative AI Master class	All Branches	105	CSE, CSE AIML & Civil
2.	19-02-2024	Ms. Medha	A.P. Applied Science & Humanities, JMIETI	Resume Writing	4 <sup>th</sup> year	21	All Branches
3.	14-05-2024	Mr. Sidharth	Product development Engineer, Razorpay	3D Printing	1st year	30	1 <sup>st</sup> year



Name of Teaching Staff : Om Parkash Bathla

Designation : Admin. Officer

Department : Electrical Engineering

Date of Joining the Institution : 01/03/12

Qualifications with class/Grade : B.Tech, PGDPM

Total Experience in Years : Teaching Industry Research

Papers Published : National International Papers

Presented in Conferences : National International

PhD Guide? Give field & University :

PhDs/Projects Guided :

Books Published/ IPRs. /Patents :

Professional Memberships :

Consultancy Activities :

Awards :

Grants fetched :

Name of Teaching Staff : Dr. Vivek Sharma

Designation : Director (Oftg.)

Department : Computer Science & Engineering

Date of Joining the Institution : 12/10/2001

Qualifications with Class/Grade : M.Tech. (1st Class Honours), Ph.D

Total Experience in Years : Teaching Industry Research

20 yrs.

Papers Published : National: International: 31

Papers Presented in Conferences : National : International :

Ph.D Guide? Give field & University : Dr. Rakesh Kumar, Dr. Sanjay Tyagi

(KUK)

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents :

Professional Memberships :

Consultancy Activities :

Awards : B.Tech. (Gold Medalist, KUK)

Grants fetched :

Name of Teaching Staff : Mrs. Upasana Sood

Designation : Assistant Professor / HEAD CSE

Department : Computer Science & Engineering

Date of Joining the Institution : 09/05/2013

Qualifications with Class/Grade : M.Tech. (First)

Total Experience in Years : Teaching: Industry Research

18 Yrs.

Papers Published : National : 01 International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : Computer Society of India

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Mrs. Priyanka Kamboj

Designation : Assistant Professor

Department : Computer Science & Engineering

Date of Joining the Institution : 01/08/2008

Qualifications with Class/Grade : M.Sc. & M.Tech.

Total Experience in Years : Teaching: Industry Research

15 Yrs.

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : Computer Society of India

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Dr. Vishal Garg

Designation : Assistant Professor

Department : Computer Science & Engineering

Date of Joining the Institution : 24/07/2006

Qualifications with Class/Grade : M.Tech./ Ph.D.

Total Experience in Years : Teaching: Industry Research

16Yrs.

Papers Published : National : - International: 22

Papers Presented in Conferences : National : - International : 03

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : CSI, IUCEE, IAENG

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Dr. Tajinder Kumar

Designation : Assistant Professor

Department : Bachelor of Computer Application

Date of Joining the Institution : 16/07/2007

Qualifications with Class/Grade : M.Tech./ Ph.D.

Total Experience in Years : Teaching: Industry Research

15 Yrs.

Papers Published : National : - International: 08

Papers Presented in Conferences : National : - International : 02

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : 03

Professional Memberships : CSI, IUCEE, IAENG

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Mrs. Punam Kalra

Designation : Assistant Professor / HEAD (1st yr.)

Department : Applied Science & Humanities

Date of Joining the Institution : 02/08/2008

Qualifications with Class/Grade : M.Sc., M.Phil.

Total Experience in Years : Teaching: Industry Research

25 Yrs.

Papers Published : National : - International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : -

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Dr. Prerna Garg

Designation : Associate Professor

Department : Applied Science & Humanities

Date of Joining the Institution : 24/07/2006

Qualifications with Class/Grade : M.Sc., Ph.D.

Total Experience in Years : Teaching: Industry Research

24 Yrs.

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : -

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Dr. Niti Sakhuja

Designation : Assistant Professor

Department : Applied Science & Humanities

Date of Joining the Institution : 01/08/2011

Qualifications with Class/Grade : M.Sc., Ph.D.

Total Experience in Years : Teaching: Industry Research

20 Yrs.

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : -

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Mrs. Sonam Kamboj

Designation : Assistant Professor

Department : Computer Science & Engineering

Date of Joining the Institution : 01/08/2023

Qualifications with Class/Grade : B.Tech., M.Tech.

Total Experience in Years : Teaching: Industry Research

4.6 Yrs.

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : Computer Society of India

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Ms. Priyanka Dabur

Designation : Assistant Professor

Department : Computer Science & Engineering

Date of Joining the Institution : 01/08/2023

Qualifications with Class/Grade : B.Tech., M.Tech.

Total Experience in Years : Teaching: Industry Research

2 Yrs.

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : -

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Ms. Trisha Rani

Designation : Assistant Professor

Department : Computer Science & Engineering

Date of Joining the Institution : 02/08/2023

Qualifications with Class/Grade : B.Tech., M.Tech.

Total Experience in Years : Teaching: Industry Research

4.6 Yrs.

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : Computer Society of India

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Mrs. Rachna

Designation : Assistant Professor

Department : Computer Science & Engineering

Date of Joining the Institution : 18/01/2024

Qualifications with Class/Grade : B.Tech., M.Tech.

Total Experience in Years : Teaching: Industry Research

1 Yrs.

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : -

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Mrs. Tamnna Rani

Designation : Assistant Professor

Department : Computer Science & Engineering

Date of Joining the Institution : 25/01/2024

Qualifications with Class/Grade : B.Tech., M.Tech.

Total Experience in Years : Teaching: Industry Research

6 months

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : -

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Ms. Ruchi Gupta

Designation : Assistant Professor

Department : CSE (AIML)

Date of Joining the Institution : 27/11/2021

Qualifications with Class/Grade : M.Tech. (CSE), 1st Class

Total Experience in Years : Teaching: Industry Research

13.6 Yrs. 2.9 yrs.

Papers Published : National : 01 International:

Papers Presented in Conferences : National : 02 International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : CSI, IUCEE

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Interaction with Professional : Dr. Anoop Girdhar

(CEO, Cyber Security Gurgoan)

Name of Teaching Staff : Mr. Shiv Dutt

Designation : Assistant Professor

Department : CSE (AIML)

Date of Joining the Institution : 16/09/2022

Qualifications with Class/Grade : B.Tech., M.Tech.

Total Experience in Years : Teaching: Industry Research

1.2 Yrs. 5 yrs.

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : -

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Mr. Ravi Kumar

Designation : Assistant Professor

Department : CSE (AIML)

Date of Joining the Institution : 01/04/2023

Qualifications with Class/Grade : B.Tech., M.Tech.

Total Experience in Years : Teaching: Industry Research

08 months 11 Yrs.

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : Nil

Ph.D/Projects Guided : Nil

Books Published/ IPRs. /Patents : Nil

Professional Memberships : -

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Mr. Sumit Kumar Mahana

Designation : Assistant Professor

Department : Bachelor of Computer Application

Date of Joining the Institution : 10/04/2023

Qualifications with Class/Grade : M.Tech./ Ph.D. Pursuing

Total Experience in Years : Teaching: Industry Research

14 Yrs.

Papers Published : National: - International:

Papers Presented in Conferences : National : - International : 06

Ph.D Guide? Give field & University : Dr. R.K. Aggarwal, NIT Kurukshetra

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : Associate Member of Institution of

**Engineers** 

(IEI)

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Dr. Ashish Chopra

Designation : Assistant Professor

Department : Bachelor of Computer Applications

Date of Joining the Institution : 25/07/2023

Qualifications with Class/Grade : B.Sc., MCA &Ph.D.

Total Experience in Years : Teaching: Industry Research

06 months 12 yrs.

Papers Published : National : 01 International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : N.A.

Awards : -

Grants fetched : -

Name of Teaching Staff : Ms. Priya Sandal

**Designation** : Assistant Professor

Department : Bachelor of Computer Applications

Date of Joining the Institution : 17/10/2023

Qualifications with Class/Grade : M.Sc.

Total Experience in Years : Teaching: Industry Research

-

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Mr. Vijay Kumar

Designation : Assistant Professor

Department : Bachelor of Computer Applications

Date of Joining the Institution : 18/01/2024

Qualifications with Class/Grade : M.Sc.

Total Experience in Years : Teaching: Industry Research

-

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Ms. Komal

Designation : Assistant Professor

Department : Bachelor of Computer Applications

Date of Joining the Institution : 18/01/2024

Qualifications with Class/Grade : MCA

Total Experience in Years : Teaching: Industry Research

-

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Mr. Mohit Kumar Vashistha

Designation : Assistant Professor

Department : Bachelor of Computer Applications

Date of Joining the Institution : 18/01/2024

Qualifications with Class/Grade : MCA

Total Experience in Years : Teaching: Industry Research

-

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Ms. Rinki Devi

Designation : Assistant Professor

Department : Civil Engineering

Date of Joining the Institution : 04/02/2022

Qualifications with Class/Grade : M.Tech. (1st Class)

Total Experience in Years : Teaching: Industry Research

Papers Published : National: International: 01

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Mr. Karan Vadhera

Designation : Assistant Professor

Department : Civil Engineering

Date of Joining the Institution : 02/04/2024

Qualifications with Class/Grade : M.Tech.

Total Experience in Years : Teaching: Industry Research

6 yrs.

Papers Published : National: International:

(IJRESM)

Papers Presented in Conferences : National : International :

(COSMIC)

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Mr. Pankaj

Designation : Assistant Professor

Department : Civil Engineering

Date of Joining the Institution : 21/11/2023

Qualifications with Class/Grade : M.Tech.

Total Experience in Years : Teaching: Industry Research

-

Papers Published : National: International: 01

(IJRESM)

Papers Presented in Conferences : National : International : 01

(COSMIC)

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Mr. Sukhdev Singh

Designation : Assistant Professor

Department : Civil Engineering

Date of Joining the Institution : 17/01/2022

Qualifications with Class/Grade : M.Tech. (1st Class)

Total Experience in Years : Teaching: Industry Research

07 yrs. 35 yrs.

Papers Published : National : International:

Papers Presented in Conferences : National : - International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Mr. Mandeep Munday

Designation : Assistant Professor

Department : Civil Engineering

Date of Joining the Institution : 21/11/2023

Qualifications with Class/Grade : M.Tech.

Total Experience in Years : Teaching: Industry Research

02 yrs.

Papers Published : National: International:

(IJRESM)

Papers Presented in Conferences : National : International :

(COSMIC)

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Dr. Tanvi Gupta

Designation : Assistant Professor (Head)

Department : Civil Engineering

Date of Joining the Institution : 01/08/2023

Qualifications with Class/Grade : M.Tech. & Ph.D.

Total Experience in Years : Teaching: Industry Research

1 yr. 2 yrs.

Papers Published : National: International:

Papers Presented in Conferences : National : - International : 02

(IJRESM)

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Mrs. Medha Vasisht

Designation : Assistant Professor

Department : AS&H

Date of Joining the Institution : 16/09/2022

Qualifications with Class/Grade : MBA

Total Experience in Years : Teaching: Industry Research

65Yis

Papers Published : National: International:

Papers Presented in Conferences : National : International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Ms. Shweta

Designation : Assistant Professor

Department : AS&H

Date of Joining the Institution : 01/08/2023

Qualifications with Class/Grade : M.Sc. & Ph.D.

Total Experience in Years : Teaching: Industry Research

**2)Yis** 

Papers Published : National: International:

Papers Presented in Conferences : National : International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Dr. Vinay Gaur

**Designation** : Assistant Professor

Department : AS&H

Date of Joining the Institution : 14/11/2022

Qualifications with Class/Grade : M.Sc. & Ph.D.

Total Experience in Years : Teaching: Industry Research

**20Yis** 

Papers Published : National: International:

Papers Presented in Conferences : National : International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Dr. Neha

Designation : Assistant Professor

Department : AS&H (ECE)

Date of Joining the Institution : 01/04/2024

Qualifications with Class/Grade : M.E. & Ph.D.

Total Experience in Years : Teaching: Industry Research

**10Yis** 

Papers Published : National: International:

Papers Presented in Conferences : National : International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Name of Teaching Staff : Mr. Abhishek Dhiman

Designation : Assistant Professor

Department : Mechanical Engineering

Date of Joining the Institution : 18/10/2023 Qualifications with

Class/Grade : M.Tech. & Ph.D. (Pursuing)

Total Experience in Years : Teaching: Industry Research

-

Papers Published : National: International:

Papers Presented in Conferences : National : International :

Ph.D Guide? Give field & University : -

Ph.D/Projects Guided : -

Books Published/ IPRs. /Patents : -

Professional Memberships : -

Consultancy Activities : -

Awards : -

Grants fetched : -

Annexure-4
Fee chart for year 2023-24

	B.TECH (CSE AND AIML)								
		1st Year		2nd	Year	3rd Year		4th Y	<b>ear</b>
SR. No.	FEE HEAD	1st Sem.	2nd Sem.	3rd Sem.	4th Sem.	5th Sem.	6th Sem.	7th Sem.	8th Sem.
1	TUITION FEE	33900.00	33900.00	33900.00	33900.00	26500.00	26500.00	24200.00	24200.00
2	DEVELOPMENT FEE	5100.00	5100.00	5100.00	5100.00	3950.00	3950.00	3630.00	3630.00
3	STUDENT FUND FEE	2000.00	0.00	2000.00	0.00	2000.00	0.00	1800.00	0.00
4	ADDITIONAL CHARGES	1250.00	1250.00	1250.00	1250.00	1250.00	1250.00	1250.00	1250.00
5	ADMISSION DATA MAGT. FEE	200.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
6	PLACEMENT BROUCHER FEE	0.00	0.00	0.00	0.00	0.00	0.00	0.00	500.00
7	PROSPECTUS	500.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
8	COLLEGE SECURITY(REFUNDABLE)	2000.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
9	UNIVERSITY EXAM FEE	2000.00	2000.00	2000.00	2000.00	2000.00	2000.00	2000.00	2000.00
10	UNIVERSITY DUES	2380.00	0.00	1680.00	0.00	1680.00	0.00	1680.00	0.00
11	UNIVERSITY ALUMNI FEE	200.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
12	RED CROSS FEE	80.00	0.00	80.00	0.00	80.00	0.00	80.00	0.00
13	NSS FEE	20.00		20.00		20.00		20.00	0.00
14	WOMEN CELL	10.00	0.00	10.00	0.00	10.00	0.00	10.00	0.00
15	UNIVERSITY DEVELOPMENT FEE	1600.00	0.00	1600.00	0.00	1600.00	0.00	1600.00	0.00
	GRAND TOTAL	51240.00	42250.00	47640.00	42250.00	39090.00	33700.00	36270.00	31580.00
	TOTAL ANNUAL FEE	9349	0.00	8989	0.00	7279	0.00	6785	0.00

	B.TECH (CIVIL)								
		1st `	Year	2nd	Year	3rd Year		4th Year	
SR. No.	FEE HEAD	1st Sem.	2nd Sem.	3rd Sem.	4th Sem.	5th Sem.	6th Sem.	7th Sem.	8th Sem.
1	TUITION FEE	33900.00	33900.00	31000.00	31000.00	26500.00	26500.00	24200.00	24200.00
2	DEVELOPMENT FEE	5100.00	5100.00	4650.00	4650.00	3950.00	3950.00	3630.00	3630.00
3	STUDENT FUND FEE	2000.00	0.00	2000.00	0.00	2000.00	0.00	1800.00	0.00
4	ADDITIONAL CHARGES	1250.00	1250.00	1250.00	1250.00	1250.00	1250.00	1250.00	1250.00
5	ADMISSION DATA MAGT. FEE	200.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
6	PLACEMENT BROUCHER FEE	0.00	0.00	0.00	0.00	0.00	0.00	0.00	500.00
7	PROSPECTUS	500.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
8	COLLEGE SECURITY(REFUNDABLE)	2000.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
9	UNIVERSITY EXAM FEE	2000.00	2000.00	2000.00	2000.00	2000.00	2000.00	2000.00	2000.00
10	UNIVERSITY DUES	2380.00	0.00	1680.00	0.00	1680.00	0.00	1680.00	0.00
11	UNIVERSITY ALUMNI FEE	200.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
12	RED CROSS FEE	80.00	0.00	80.00	0.00	80.00	0.00	80.00	0.00
13	NSS FEE	20.00		20.00		20.00		20.00	0.00
14	WOMEN CELL	10.00	0.00	10.00	0.00	10.00	0.00	10.00	0.00
15	UNIVERSITY DEVELOPMENT FEE	1600.00	0.00	1600.00	0.00	1600.00	0.00	1600.00	0.00
	GRAND TOTAL	51240.00	42250.00	44290.00	38900.00	39090.00	33700.00	36270.00	31580.00
	TOTAL ANNUAL FEE	9349	0.00	8319	0.00	7279	0.00	6785	0.00

	Bachelor of Computer Application (BCA)						
		1st Year		2nd Year		3rd Year	
SR. No.	FEE HEAD	1st Sem.	2nd Sem.	3rd Sem.	4th Sem.	5th Sem.	6th Sem.
1.	TUITION FEE	22166.00	22165.00	18360.00	18361.00	18360.00	18361.00
2.	DEVELOPMENT FEE	600.00	0.00	600.00	0.00	600.00	0.00
3.	STUDENT FUND FEE	1179.00	0.00	1179.00	0.00	1179.00	0.00
4.	PROSPECTUS	500.00	0.00	0.00	0.00	0.00	0.00
5.	COLLEGE SECURITY	2000.00	0.00	0.00	0.00	0.00	0.00
6.	UNIVERSITY EXAM FEE	800.00	800.00	800.00	800.00	800.00	800.00
7.	UNIVERSITY DUES	2210.00	0.00	1510.00	0.00	1510.00	0.00
8.	YOUTH WELFARE FUND FEE	500.00	0.00	500.00	0.00	500.00	0.00
9.	SPORTS REGISTRATION FEE	500.00	0.00	500.00	0.00	500.00	0.00
10.	UNIVERSITY DEV. FEE	2000.00	0.00	2000.00	0.00	2000.00	0.00
11.	NEP FEE	830.00	0.00	0.00	0.00	0.00	0.00
12.	UNIVERSITY ALUMNI FEE	200.00	0.00	0.00	0.00	0.00	0.00
13.	RED CROSS FEE	80.00	0.00	80.00	0.00	80.00	0.00
14.	NSS FEE	30.00	0.00	30.00	0.00	30.00	0.00
	GRAND TOTAL	33595.00	22965.00	25559.00	19161.00	25559.00	19161.00
	TOTAL ANNUAL FEE	5656	0.00	4472	20.00	44720	0.00

#### Annexure5(Attached)

### Laboratory detail

### COMPUTER ENGINEERING DEPARTMENT

#### PHOTOS & DETAIL OF EQUIPMENTS EXISTING IN VARIOUS LABORATORIES

### LANGUAGE LAB



#### **COMPUTER CENTRE**



#### **PROGRAMMING LAB**





#### **CSE Deptt.**

• Laptop = 12 + Acer 5, Dell 6, HP 1

Dell 5,Lenovo 6,Samsung 1 + 24

= 08

Total Computer = 335

•	Printer	= 39
•	UPS	= 52
•	Server	= 06
•	Server Dead	=01
•	Projector (Dell 3. Infose 8.	Beng $1) = 12$

**Data Card Airtel** 

•	USB Hard Disk ( $500 \text{ GB } 1, 1\text{TB } 1$ ) = $02$				
•	Podium	= 03			
•	<b>Bio Metric Machine</b>	= 10			
•	<b>DVD</b> writer	=01			
•	Blower	=01			



# List of equipment JMIETI CSE-Department

Sr.No.	Configuration System	Quantity
B-10 A Lab	Pentium ( R) Dual core cpu <u>E5700@3.00</u> Ram 2 Gb ,HDD 500 GB= 19	
	System Edge Black Zebronic (Desktop) Intel ® Xeon ® CPU E1225 V2 @ 3.20ghz, HDD500 GB ,RAM 4GB=01 Acer desktop Intel (R) core (TM) i3 -2130 cpu @ 3.40 Ghz Ram 2 GB, HDD 500 = 01 Think Centre Intel (R) Pentium (R) CPU G640 @2.80 Ghz	22
B-10 B Lab	,Ram 4 GB, HDD 500 =1 Thin Clinet PC (Flash Memory 4 GB, Ram 2 Gb)	28
	Intel(R) Xeon(R) CPU E3-1225 V2 @ 3.20GHz 3.20 GHz,4GB RAM	1
B-12 Lab	Acer System (Desktop )Intel (R) Core (TM) i3-4160 CPU @ 3.60 ghz HDD 1TB RAM 4 GB = 28  Acer desktop Intel (R) core (TM) i3 -2130 cpu @ 3.40 Ghz  Ram 2 GB, HDD 500 = 02	30
B-13 Lab	Acer System (Desktop )Intel (R) Core (TM) i3-4160 CPU @ 3.60 ghz HDD 1TB RAM 4 GB=29  Acer desktop Intel (R) core (TM) i3 -2130 cpu @ 3.40 Ghz Ram 2 GB, HDD 500=1	30
C-12 Lab	System Edge Black Zebronic (Desktop) Intel ® Xeon ® CPU E1225 V2 @ 3.20ghz, HDD500 GB ,RAM 4GB =21 Think Centre Intel (R) Pentium (R) CPU G640 @2.80 Ghz ,Ram 4 GB, HDD 500 =1	22
C-9 Lab	Thin Clinet PC (Flash Memory 4 GB, Ram 2 Gb)=26	
	System Edge Black Zebronic (Desktop) Intel ® Xeon ® CPU E1225 V2 @ 3.20ghz, HDD500 GB ,RAM 4GB =01	27
C-10 Lab	Thin Clinet PC ( Flash Memory 4 GB , Ram 2 Gb )	25
Civil Lab	System Edge Black Zebronic (Desktop ) Intel ® Xeon ® CPU E1225 V2 @ 3.20ghz, HDD500 GB ,RAM 4GB	02
D-10 Lab	Thin Clinet PC (Thin Client Storm Mini Ram 256 MB) 23 Thin Clinet PC (Flash Memory 4 GB, Ram 2 Gb) 06	30
Civil Lab	System Edge Black Zebronic (Desktop) Intel ® Xeon ® CPU E1225 V2 @ 3.20ghz, HDD500 GB ,RAM 4GB	02
First Year lab	Thin Clinet PC ( Flash Memory 4 GB , Ram 2 Gb )	28
Library lab	Thin Clinet PC ( Flash Memory 4 GB, Ram 2 Gb)	18

#### MACHINE SHOP



# FONDARY SHOP



S.No.	Items	Cost (per unit	Quantity	Total Cost
1	Rectangular muffle furnace	36,000.00 Rs	1	36,000.00 Rs
	with digital display & with			
	digital temperature indicator			
	cum controller PID based work			
	on 220 Volts single Phase Ac			
	supply			
	Size of Inner Chamber (8" X			
	8" X 8")	4.70.00.7		***
2	Shovels	150.00 Rs.	2	300.00Rs
3	Draw Screw	400.00 Rs.	1 packet	400.00Rs
4	Hand Riddle	110.00 Rs.	4	440.00Rs
5	Trowel (\$mall)	20.00 Rs.	6	120.00Rs
6	Trowel (Medium)	30.00 Rs.	6	180.00Rs
7	Trowel (Large)	35.00 Rs.	6	210.00Rs
8	Stirrer	40.00 Rs.	1	40.00Rs
9	Asbestos Gloves	450.00 Rs.	4	1,800.00Rs
10	High Temperature Graphite Crucible (Size No. 3)	202.50 Rs.	4	810.00Rs
		227.00		470.005
11	High Temperature Graphite Crucible (Size No. 4)	225.00 Rs.	2	450.00Rs
12	High Temperature Graphite Crucible	225.00 Rs.	4	900.00Rs
	(Size No. 6)			
13	Infra Red Goggles	180.00 Rs.	4	720.00Rs
14	M.S.Tong (Laddle) - 18"	720.00 Rs.	2	1,440.00Rs
15	M.S.Tong (Laddle) - 24"	1,080.00 Rs.	2	2,160.00Rs
				45,970.00 Rs.

# FITTING SHOP



S.No.	Items	Cost (per unit)	Quantity	Total Cost
1	Angle Plate	2,880.00 Rs.	1	2,880.00 Rs.
2	Surface Plate	2,050.00 Rs.	1	2,050.00 Rs.
3	Bench Vice	1,150.00 Rs.	10	11,500.00 Rs.
4	V-Block with Clamp	990.00 Rs.	1	990.00 Rs.
5	Steel Scale (1 meter)	220.00 Rs.	1	220.00 Rs.
6	Combination Square set	1,950.00 Rs.	1	1,950.00 Rs.
7	Bench Vice	1,150.00 Rs.	2	2,300.00 Rs.
8	Vernier Height Gauge	2,800.00 Rs.	1	2,800.00 Rs.
9	Wire Gauge	148.00 Rs.	3	444.00 Rs.
10	Screw Pitch Gauge	195.00 Rs.	3	585.00 Rs.
11	Filler Gauge	65.00 Rs	3	195.00 Rs.
12	Vernier Caliper (8")	850.00 Rs.	3	2,550.00 Rs.
13	Outside Micrometer	350.00 Rs.	2	700.00 Rs.
14	Steel Scale (12")	15.00 Rs	10	150.00 Rs.
15	Try Square (6")	192.00 Rs.	10	1,920.00 Rs.
16	Measuring Tape	80.00 Rs	3	240.00 Rs.
17	Flat File – Single Cut (10")	95.00 Rs	10	950.00 Rs.
18	Flat File – Double Cut (10")	120.00 Rs.	10	1,200.00 Rs.
19	Flat File – Rough (10")	160.00 Rs.	6	960.00 Rs.
20	Flat File (6")	145.00 Rs.	6	870.00 Rs.
21	Triangular File (10")	95.00 Rs	6	570.00 Rs.
22	Triangular File (6")	65.00 Rs	6	390.00 Rs.
23	Smooth File (6")	85.00 Rs	10	850.00 Rs.
24	Smooth File (10")	90.00 Rs	10	900.00 Rs.
25	Knife Edge File (10")	98.35 Rs	6	590.00 Rs.
26	Allen Key Set	120.00 Rs.	1	120.00 Rs.
27	C-Clamp (50 mm)	55.00 Rs	5	275.00 Rs.
28	C-Clamp (100 mm)	120.00 Rs.	3	360.00 Rs.
29	Hacksaw Frame (12")	140.00 Rs.	10	1,400.00 Rs.
30	Screw Driver (8")	82.00 Rs	1	82.00 Rs.
31	Screw Driver (12")	94.00 Rs	1	94.00 Rs.
32	Screw Driver Kit	156.00 Rs.	1	156.00 Rs.
33	Compass	150.00 Rs.	5	750.00 Rs.
34	Tap Set	1,050.00 Rs.	1	1,050.00 Rs.
35	Chisel	98.33 Rs	6	590.00 Rs.
36	Tin Cutter	240.00 Rs.	1	240.00 Rs.
37	Plier	110.00 Rs.	1	110.00 Rs.
38	Die Handle	130.00 Rs.	2	260.00 Rs.
39	Divider (8")	66.00 Rs	4	264.00 Rs.
40	Drill Chuck	350.00 Rs.	1	350.00 Rs.
41	Arbor	130.00 Rs.	1	130.00 Rs.
42	Hammer Ball Pin	89.50 Rs	2	179.00 Rs.
43	Hammer Cross Pin	89.50 Rs	2	179.00 Rs.
44	Hammer Straight Pin	89.50 Rs	2	179.00 Rs.
45	Dot Punch	78.00 Rs	6	468.00 Rs.
46	Trip Handle	142.50 Rs.	2	285.00 Rs.
47	Die Handle	110.00 Rs.	6	660.00 Rs.
48	Sliding Wrench	280.00 Rs.	1	280.00 Rs

49	Compass (Caliper Inside)	45.00 Rs.	6	270.00 Rs.
50	Compass (Caliper Outside)	45.00 Rs.	6	270.00 Rs.
51	Scriber	20.00 Rs.	6	120.00 Rs.
52	Tap Set (M12 X 1.75)	150.00 Rs.	2	300.00 Rs.
53	Triangular File	40.00 Rs.	20	800.00 Rs.
				48,975.00 Rs.

# EME Lab



S.No.	Items	Cost (per unit	Quantity	Total Cos
1	Cockran Boiler	8,000.00 Rs.	1	8,000.00 Rs
2	Vertical Tube Boiler	8,000.00 Rs.	1	8,000.00 Rs
3	Lancashire Boiler	11,500.00 Rs.	1	11,500.00 Rs
4	Francis Turbine	5,600.00 Rs	1	5,600.00 Rs
5	Locomotive Boiler	11,500.00 Rs.	1	11,500.00 Rs
6	Kaplan Turbine	5,000.00 Rs.	1	5,000.00 Rs
7	Babcock and Wilcox Boiler Model	11,500.00 Rs	1	11,500.00 Rs
8	Pelton Turbine Model	5,600.00 Rs.	1	5,600.00 Rs
9	2 stroke Petrol Engine Model	2,650.00 Rs.	1	2,650.00 Rs
10	2 stroke Diesel Engine Model	2,650.00 Rs.	1	2,650.00 Rs
11	4 stroke Petrol Engine Model	2,650.00 Rs.	1	2,650.00 Rs
12	4 stroke Diesel Engine Model	2,650.00 Rs.	1	2,650.00 Rs
13	Worm & Worm wheel Single	5,500.00 Rs.	1	5,500.00 Rs

	Start			
14	Worm & Worm wheel Double	6,700.00 Rs.	1	6,700.00 Rs.
	Start			
15	Worm & Worm wheel Triple	7,700.00 Rs.	1	7,700.00 Rs.
	Start			
16	Winch Crabs Single Purchase	8,600.00 Rs.	1	8,600.00 Rs.
17	Winch Crabs Double Purchase	10,100.00 Rs.	1	10,100.00 Rs.
18	Jib Crane	5,200.00 Rs.		5,200.00 Rs.
19	Single Screw Jack	5,400.00 Rs.	1	5,400.00 Rs.
20	Deflection of Beam Apparatus	13,700.00 Rs.	1	13,700.00 Rs.
21	Compound Jack	6,800.00 Rs.	1	6,800.00 Rs.
22	Rockwell cum Brinell Hardness	4,800.00 Rs.	1	4,800.00 Rs.
	Tester			
				<u>1,51,800.00</u>
				Rs.

### APPLIED SCIENCES DEPARTMENT

#### PHOTOS & DETAIL OF EQUIPMENTS EXISTING IN VARIOUS LABORATORIES

### **Chemistry Lab**



Sr. No.	Instrument	Quantity	Approx. Cost in	Total cost in
	Description		(Rs)	(Rs.)
1	Digital conductivity	02	3095/pc	6190.00
2	Combined electrode for pH meter	02	2950/pc	5900.00
3	Electric oven	01	3185/pc	3185.00
4	Redwood Viscometer No-1	01	4895/pc	4895.00
5	Redwood viscometer No-2	01	5895/pc	5895.00
6	Hot plate	01	785/pc	785.00
7	Pensky- Marten flash point apparatus	02	4950/pc	9900.00
8	Water bath double walled thermostatic	02	2435/pc	4870.00

	Controlled (6-holes)			
9	Electronic Balance with cover	02	5980/pc	11960.00
10	Water still casted in Al body	01	4725/pc	4725.00
			Total Amount	58305.00

# Physics Lab.



S.No.	Items	Cost (per unit	Quantity	Total Cost
1	Diffraction Grating Setup	1470	02	2940
2	Newton's Ring Setup	986 380	02 01	1972 380
3	Spewfic Rotation Setup	667 335	02 01	13350 3350
4	Sonometer Setup	300	02	600

	(with Power Supply)	800	01	800
5	Newton's Formula Exeriment	630	02	1260
	(Optical Bench)	200	01	200
6	Post Office Box Setup Complete	862	02	1725
	P.O Box	200	01	200
7	Cary Foster Bridge	562	02	1125
	Setup	475	01	475
8	High Resistance By Substitution	712	02	1425
	Method Experiment			
9	G To A Conversion Setup	1072	02	2145
10	De'Sauty Bridge	483	02	967
		360	01	360
11	Resolving Power of Telescope	1871	02	3742
12	Ammeter(0-3 Amp)	130	02	260
13	Bar Magnet	5(	02	100
14	Galvanometer	130	06	780
15	Rheostate	325	02	650
16	Resistance Box(1-5000)	110	08	880
17	Sodium Lamp Box Complete	255	02	510
18	Mercury Lamp Box Complete	135	01	135
19	Voltmeter	130	02	260
20	Spectrometer	350	01	350
21	Optical Bench	200	01	200
22	Slotted wts.(500x5) Kg	250	01	250
23	Potentiometer	400	01	400
24	Resistance Box	750	02	150
_			Total Amount	233347

#### Annexure5(Attached)

#### Laboratory detail

### COMPUTER ENGINEERING DEPARTMENT

#### PHOTOS & DETAIL OF EQUIPMENTS EXISTING IN VARIOUS LABORATORIES

### LANGUAGE LAB



#### **COMPUTER CENTRE**



#### **PROGRAMMING LAB**





#### **CSE Deptt.**

• Desktop = 129 + Thin -Client PC = 182 Total = 311

• Laptop = 12 + Acer 5, Dell 6, HP 1

Dell 5,Lenovo 6,Samsung 1 + 24

Total Computer = 335

•	Printer	= 39
•	UPS	= 52
•	Server	= 06
•	Server Dead	=01
•	Projector (Dell 3, Infose 8, B	Benq 1) = 12
•	Data Card Airtel	= 08
•	USB Hard Disk (500 GB 1, 1	$(TB \ 1) = 02$

• **Podium** = 03

•	<b>Bio Metric Machine</b>	= 10
•	DVD writer	=01
•	Blower	=01



# List of equipment JMIETI CSE-Department

Sr.No.	Configuration System	Quantity
B-10 A Lab	Pentium ( R) Dual core cpu <u>E5700@3.00</u> Ram 2 Gb ,HDD 500 GB= 19	
	System Edge Black Zebronic (Desktop )	
	Intel ® Xeon ® CPU E1225 V2 @ 3.20ghz, HDD500 GB	
	RAM 4GB=01	22
	Acer desktop Intel (R) core (TM) i3 -2130 cpu @ 3.40 Ghz	22
	Ram 2 GB, HDD 500 = 01	
	Think Centre Intel (R) Pentium (R) CPU G640 @2.80 Ghz	
	,Ram 4 GB, HDD 500 =1	
B-10 B Lab	Thin Clinet PC ( Flash Memory 4 GB , Ram 2 Gb )	28
	Intel(R) Xeon(R) CPU E3-1225 V2 @ 3.20GHz 3.20	1
	GHz,4GB RAM	
	Acer System (Desktop )Intel (R) Core (TM) i3-4160 CPU	
	@ 3.60 ghz HDD 1TB RAM 4 GB = 28	]
B-12 Lab	Acer desktop Intel (R) core (TM) i3 -2130 cpu @ 3.40 Ghz	30
	Ram 2 GB, HDD 500 = 02	
	Acer System (Desktop )Intel (R) Core (TM) i3-4160 CPU	
D 40 T 1	@ 3.60 ghz HDD 1TB RAM 4 GB=29	
B-13 Lab	Acer desktop Intel (R) core (TM) i3 -2130 cpu @ 3.40 Ghz Ram 2 GB, HDD 500=1	30
	System Edge Black Zebronic (Desktop) Intel ® Xeon ® CPU E1225 V2 @ 3.20ghz, HDD500 GB	
C-12 Lab	RAM 4GB =21	22
C-12 Lab	Think Centre Intel (R) Pentium (R) CPU G640 @2.80 Ghz	- 22
	Ram 4 GB, HDD 500 =1	
C-9 Lab	Thin Clinet PC (Flash Memory 4 GB, Ram 2 Gb)=26	
	System Edge Black Zebronic (Desktop )	27
	Intel ® Xeon ® CPU E1225 V2 @ 3.20ghz, HDD500 GB	27
	RAM 4GB =01	
C-10 Lab	Thin Clinet PC (Flash Memory 4 GB, Ram 2 Gb)	25
Civil Lab	System Edge Black Zebronic (Desktop )	02
CIVII Lab	Intel ® Xeon ® CPU E1225 V2 @ 3.20ghz, HDD500 GB	02
	,RAM 4GB	
D-10 Lab	Thin Clinet PC (Thin Client Storm Mini Ram 256 MB)	30
D-10 Lab	23	30
	Thin Clinet PC (Flash Memory 4 GB, Ram 2 Gb) 06	
Civil Lab	System Edge Black Zebronic (Desktop)	02
	Intel ® Xeon ® CPU E1225 V2 @ 3.20ghz, HDD500 GB	
	,RAM 4GB	
First Year lab	Thin Clinet PC ( Flash Memory 4 GB , Ram 2 Gb )	28

### **ELECTRICAL TECHNOLOGY LAB**



SR.	DETAILS OF EQUIPMENT	QUANTITY	RATE
NO.	THREE PHASE AC TO DC POWER SUPPLY RECTIFIER TYPE WITH TRANSFORMER	1	72800/-
23	VERIFICATION OF NETWORK THEOREMS	2	7920/-
24	STUDY OF LCR SERIES AND PARALLEL CIRCUIT	2	5040/-
25	SINGLE PHASE VARIAC	4	23700/-
26	THREE PHASE RESISTIVE LOAD	1	13040/-
27	FLUKE CLAMP METER	1	4950/-
28	CONTACT TYPE DIGITAI TACHOMETER	3	4860/-
29	SINGLE PHASE TRANSFORMER 1KVA	3	8690/-
30	VERIFICATION OF SUPERPOSITION AND MAXIMUM POWERTRANSFERTHEOREMKIT	2	4950/-
31	VERIFICATION NORTRON AND THEVNINS'S KIT	2	5700/-
32	VERIFICATION OF KCL AND KVL	1	2662/-

	KIT		
33	5KW RESISTIVE LOAD	1	9488/-
34	DC SHUNT/COMPOUND MOTOR WITH STARTER	1	27900/-
35	SINGLE PHASE MAGNETIC ENERGY METER	1	400/-
36	THREE PHASE SQUIRREL CAGE INDUCTION MOTOR WITH LOAD ARRANGEMENT	1	17100/-
37	AUDIO FREQUENCY OSCILLATOR	2	5200/-
38	THREE PHASE VARIAC	1	29250/-
39	AMMETERS	11	11430/-
40	VOLTMETER	13	16210/-
41	REHEOSTAT	4	17850/-
42	WATTMETER	7	27360/-

#### MACHINE SHOP



S.No.	Items	Cost (per unit)	Quantity	Total Cost
1	Steel Scale (1 meter)	220.00 Rs	1	220.00 Rs
2	Surface grinder	3250.00 Rs.	1	3,250.00 Rs
3	Vernier caliper (6")	290.00 Rs.	3	870.00 Rs

4	Outside micrometer	350.00Rs.	2	700.00 Rs.
5	Steel scale (12")	15.00 Rs.	10	150.00 Rs.
5	Marking block	421.33Rs.	3	1,264.00 Rs.
	Gear puller	500.00Rs.	1	500.00 Rs.
3	Lathe Machine	2,20,700.00 Rs.	1	2,20,700.00 Rs.
	(6' length, 1' Bed, 9' center with			
	accessories)			
9	Shaper Machine	1,13,000.00Rs.	1	1,13,000.00 Rs.
10	Lathe Machine (4.5')	88,500.00Rs.	1	88,500.00 Rs.
11	Hydraulic Hacksaw Machine	40,500.00Rs.	1	40,500.00 Rs.
12	Drill Machine	13,000.00Rs.	1	13,000.00 Rs.
13	Electric Motor	7500.00 Rs.	4	30,000.00 Rs.
	I.H.P – rpm – 1400, 3-Phase	, 200.00 213.	·	20,000.00 215.
	(for Shaper, Lathe, Drilling & Hacksaw			
	Machines)			
14	Lathe Machine (5') Complete	1,70,000.00Rs.	2	3,40,000.00 Rs.
15	Compass	45.00 Rs.	10	450.00 Rs.
16	0il Gun	90.00 Rs.	2	180.00 Rs.
17	Boring Bar	190.00 Rs.	3	570.00 Rs.
18	Parting Tool Holder	240.00Rs.	4	960.00 Rs.
19	Cutting Tool Holder	240.00Rs.	8	1,920.00 Rs.
20	Drill Chuck	350.00Rs.	1	350.00 Rs.
21	Arbor	130.00 Rs.	1	130.00 Rs.
22	Hammer Ball Peen	89.50 Rs.	2	179.00 Rs.
23	Hammer Cross Peen	89.50 Rs.	2	179.00 Rs.
24	Hammer Straight Peen	89.50 Rs.	2	179.00 Rs.
25	Dot Punch	39.00 Rs.	6	234.00 Rs.
26	Centre Punch	58.00 Rs.	3	174.00 Rs.
27	Latter Punch	435.00Rs.	2	870.00 Rs.
28	Number Punch	160.00Rs.	4	640.00 Rs.
29	Starter (10 H.P)	860.00Rs.	5	4,300.00 Rs.
30	LT – 32 A, 415 V (55 K)	950.00Rs.	10	9,500.00 Rs.
31	Parting Tool Bit Holder	150.00Rs.	2	300.00 Rs.
32	\$haper M/c Tool Holder (1/2")	225.00Rs.	2	450.00 Rs.
33	\$haper M/c Tool Holder (3/8)	160.00Rs.	6	960.00 Rs.
	1			8,75,179 Rs.
	CARREN	TEDAY CAYOD		
	<u>CARPEN</u>	TRY SHOP		
	I I		I	I



S.No.	Items	Cost (per unit	Quantity	Total Cos
1	Hand Dall Markins		1	750.00
1	Hand Drill Machine	750.0	1	750.00
2	Iron Jack Plain (A-4)	600.0	4	2,400.00
3	Iron Jack Plain (A-5)	500.0	8	4,000.00
4	Spoke Shape Plain	275.0	2	550.00
5	Iron Jack Plain (A-10)	1200.0	2	2,400.00
6	Iron Jack Plain (A-78)	1500.0	2	3,000.00
7	Iron Jack Plain (A-52)	2400.0	1	2,400.00
8	Tennon Saw	45.0	2	90.00
9	Key Hole Saw	40.0	2	80.00
10	Ratchet Brace	360.0	2	720.00
11	Steel Scale (1meter)	220.0	1	220.00
12	Iron Jack Plain (07")	220.0	2	440.00
13	Side Axe (adge)	265.0	3	795.00
14	Steel Scale (12")	15.0	10	150.00
15	Try Square (8")	180.0	10	1,800.00
16	Measuring Tape	80.00 Rs	3	240.00 Rs
17	Rasp File	245.00 Rs	10	2,450.00 Rs
18	Half Round File	190.00 Rs	10	1,900.00 Rs
19	Compass Saw	25.00 Rs	2	50.00 Rs
20	Rip Saw	125.00 Rs	10	1,250.00 Rs
21	Firmer Chisel (1/2")	40.00 Rs	10	400.00 Rs
22	Firmer Chisel (3/4")	45.00 Rs	2	90.00 Rs
23	Firmer Chisel (1")	50.00 Rs	2	100.00 Rs
24	Mortise Chisel (1/2")	40.00 Rs	10	400.00 Rs

25	Mortise Chisel (3/4")	50.00 Rs.	2	100.00Rs.
26	Mortise Chisel (1")	60.00 Rs.	2	120.00Rs.
27	Grimlet	60.00 Rs.	3	180.00Rs.
29	Folding Scale	30.00 Rs.	2	1 <b>6</b> 0.00 <b>R</b> §.
30	Mallet	30.00 Rs.	6	180.00Rs.
31	Screw Driver (8")	82.00 Rs.	2	164.00Rs.
32	Screw Driver (12")	94.00 Rs.	2	188.00Rs.
33	Compass	45.00 Rs.	5	225.00Rs.
34	Plier	110.00 Rs.	1	110.00Rs.
35	Marking Gauge	65.00 Rs.	1	650.00Rs.
36	Carpentry Vice	930.00 Rs.	12	11,160.00 Rs.
37	Hammer Ball Pin	89.50 Rs.	2	179.00Rs.
38	Hammer Cross Pin	89.50 Rs.	2	179.00Rs.
39	HammerStraight Pin	89.50 Rs.	2	179.00Rs.
40	Hammer Claw	89.50 Rs	6	537.00Rs.
				41,026.00 Rs.
		FONDARY SHOP		



S.No.	Items	Cost (per unit	Quantity	Total Cos
1	Rectangular muffle furnace	36,000.00 Rs	1	36,000.00 Rs
	with digital display & with			
	digital temperature indicator			
	cum controller PID based work			
	on 220 Volts single Phase Ac			

supply
Size of Inner Chamber (8" X
8" X 8")

2	Shovels	150.00 Rs.	2	300.00Rs.
3	Draw Screw	400.00 Rs.	1 packet	400.00Rs.
4	Hand Riddle	110.00 Rs.	4	440.00Rs
5	Trowel (\$mall)	20.00 Rs	6	120.00Rs
6	Trowel (Medium)	30.00 Rs.	6	180.00Rs
7	Trowel (Large)	35.00 Rs.	6	210.00Rs
8	Stirrer	40.00 Rs.	1	40.00Rs
9	Asbestos Gloves	450.00 Rs.	4	1,800.00Rs
10	High Temperature Graphite Crucible (Size No. 3)	202.50 Rs.	4	810.00Rs
11	High Temperature Graphite Crucible (Size No. 4)	225.00 Rs.	2	450.00Rs
12	High Temperature Graphite Crucible (Size No. 6)	225.00 Rs.	4	900.00Rs
13	Infra Red Goggles	180.00 Rs.	4	720.00Rs
14	M.S.Tong (Laddle) - 18"	720.00 Rs.	2	1,440.00Rs
15	M.S.Tong (Laddle) - 24"	1,080.00 Rs.	2	2,160.00Rs
1				45,970,00 Rs

# FITTING SHOP



S.No.	Items	Cost (per unit)	Quantity	Total Cost
1	Angle Plate	2,880.00 Rs.	1	2,880.00 Rs.
2	Surface Plate	2,050.00 Rs.	1	2,050.00 Rs.
3	Bench Vice	1,150.00 Rs.	10	11,500.00 Rs.
4	V-Block with Clamp	990.00 Rs.	1	990.00 Rs.
5	Steel Scale (1 meter)	220.00 Rs.	1	220.00 Rs.
6	Combination Square set	1,950.00 Rs.	1	1,950.00 Rs.
7	Bench Vice	1,150.00 Rs.	2	2,300.00 Rs.
8	Vernier Height Gauge	2,800.00 Rs.	1	2,800.00 Rs.
9	Wire Gauge	148.00 Rs.	3	444.00 Rs.
10	Screw Pitch Gauge	195.00 Rs.	3	585.00 Rs.
11	Filler Gauge	65.00 Rs	3	195.00 Rs.
12	Vernier Caliper (8")	850.00 Rs.	3	2,550.00 Rs.
13	Outside Micrometer	350.00 Rs.	2	700.00 Rs.
14	Steel Scale (12")	15.00 Rs	10	150.00 Rs.
15	Try Square (6")	192.00 Rs.	10	1,920.00 Rs.
16	Measuring Tape	80.00 Rs	3	240.00 Rs.
17	Flat File – Single Cut (10")	95.00 Rs	10	950.00 Rs.
18	Flat File – Double Cut (10")	120.00 Rs.	10	1,200.00 Rs.
19	Flat File – Rough (10")	160.00 Rs.	6	960.00 Rs.
20	Flat File (6")	145.00 Rs.	6	870.00 Rs.
21	Triangular File (10")	95.00 Rs	6	570.00 Rs.
22	Triangular File (6")	65.00 Rs	6	390.00 Rs.
23	Smooth File (6")	85.00 Rs	10	850.00 Rs.
24	Smooth File (10")	90.00 Rs	10	900.00 Rs.
25	Knife Edge File (10")	98.35 Rs	6	590.00 Rs.
26	Allen Key Set	120.00 Rs.	1	120.00 Rs.
27	C-Clamp (50 mm)	55.00 Rs	5	275.00 Rs.
28	C-Clamp (100 mm)	120.00 Rs.	3	360.00 Rs.
29	Hacksaw Frame (12")	140.00 Rs.	10	1,400.00 Rs.
30	Screw Driver (8")	82.00 Rs	1	82.00 Rs.
31	Screw Driver (12")	94.00 Rs	1	94.00 Rs.
32	Screw Driver Kit	156.00 Rs.	1	156.00 Rs.
33	Compass	150.00 Rs.	5	750.00 Rs.
34	Tap Set	1,050.00 Rs.	1	1,050.00 Rs.
35	Chisel	98.33 Rs	6	590.00 Rs.
36	Tin Cutter	240.00 Rs.	1	240.00 Rs.
37	Plier	110.00 Rs.	1	110.00 Rs.
38	Die Handle	130.00 Rs.	2	260.00 Rs.
39	Divider (8")	66.00 Rs	4	264.00 Rs.
40	Drill Chuck	350.00 Rs.	1	350.00 Rs.
41	Arbor	130.00 Rs.	1	130.00 Rs.
42	Hammer Ball Pin	89.50 Rs	2	179.00 Rs.
43	Hammer Cross Pin	89.50 Rs	2	179.00 Rs.
44	Hammer Straight Pin	89.50 Rs	2	179.00 Rs.
45	Dot Punch	78.00 Rs	6	468.00 Rs.
46	Trip Handle	142.50 Rs.	2	285.00 Rs.
47	Die Handle	110.00 Rs	6	660.00 Rs.
48	Sliding Wrench	280.00 Rs.	1	280.00 Rs.

49	Compass (Caliper Inside)	45.00 Rs.	6	270.00 Rs.
50	Compass (Caliper Outside)	45.00 Rs.	6	270.00 Rs.
51	Scriber	20.00 Rs.	6	120.00 Rs.
52	Tap Set (M12 X 1.75)	150.00 Rs.	2	300.00 Rs.
53	Triangular File	40.00 Rs.	20	800.00 Rs.
				48,975.00 Rs.

# EME Lab



S.No.	Items	Cost (per unit	Quantity	Total Cos
1	Cockran Boiler	8,000.00 Rs.	1	8,000.00 Rs
2	Vertical Tube Boiler	8,000.00 Rs.	1	8,000.00 Rs
3	Lancashire Boiler	11,500.00 Rs	1	11,500.00 Rs
4	Francis Turbine	5,600.00 Rs.	1	5,600.00 Rs
5	Locomotive Boiler	11,500.00 Rs.	1	11,500.00 Rs
6	Kaplan Turbine	5,000.00 Rs.	1	5,000.00 Rs
7	Babcock and Wilcox Boiler Model	11,500.00 Rs	1	11,500.00 Rs
8	Pelton Turbine Model	5,600.00 Rs.	1	5,600.00 Rs
9	2 stroke Petrol Engine Model	2,650.00 Rs.	1	2,650.00 Rs
10	2 stroke Diesel Engine Model	2,650.00 Rs.	1	2,650.00 Rs
11	4 stroke Petrol Engine Model	2,650.00 Rs.	1	2,650.00 Rs
12	4 stroke Diesel Engine Model	2,650.00 Rs.	1	2,650.00 Rs
13	Worm & Worm wheel Single	5,500.00 Rs.	1	5,500.00 Rs

	Start			
14	Worm & Worm wheel Double	6,700.00 Rs.	1	6,700.00 Rs.
	Start			
15	Worm & Worm wheel Triple	7,700.00 Rs.	1	7,700.00 Rs.
	Start			
16	Winch Crabs Single Purchase	8,600.00 Rs.	1	8,600.00 Rs.
17	Winch Crabs Double Purchase	10,100.00 Rs.	1	10,100.00 Rs.
18	Jib Crane	5,200.00 Rs.	1	5,200.00 Rs.
19	Single Screw Jack	5,400.00 Rs.	1	5,400.00 Rs.
20	Deflection of Beam Apparatus	13,700.00 Rs.	1	13,700.00 Rs.
21	Compound Jack	6,800.00 Rs.	1	6,800.00 Rs.
22	Rockwell cum Brinell Hardness	4,800.00 Rs.	1	4,800.00 Rs.
	Tester			
				<u>1,51,800.00</u>
				Rs.

### APPLIED SCIENCES DEPARTMENT

#### PHOTOS & DETAIL OF EQUIPMENTS EXISTING IN VARIOUS LABORATORIES

### **Chemistry Lab**



Sr. No.	Instrument	Quantity	Approx. Cost in	Total cost in
	Description		(Rs)	(Rs.)
1	Digital conductivity	02	3095/pc	6190.00
2	Combined electrode for pH meter	02	2950/pc	5900.00
3	Electric oven	01	3185/pc	3185.00
4	Redwood Viscometer No-1	01	4895/pc	4895.00
5	Redwood viscometer No-2	01	5895/pc	5895.00
6	Hot plate	01	785/pc	785.00
7	Pensky- Marten flash point apparatus	02	4950/pc	9900.00
8	Water bath double walled thermostatic	02	2435/pc	4870.00

	Controlled (6-holes)			
9	Electronic Balance with cover	02	5980/pc	11960.00
10	Water still casted in Al body	01	4725/pc	4725.00
			Total Amount	58305.00

# Physics Lab.



S.No.	Items	Cost (per	Quantity	Total Cos
		unit		
1	Diffraction Grating Setup	1470	02	2940
2	Newton's Ring Setup	986 380		1972 380
3	Spewfic Rotation Setup	667 335	02 01	13350 3350
4	Sonometer Setup	300	02	600

	(with Power Supply)	800	01	800
5	Newton's Formula Exeriment	630	02	1260
	(Optical Bench)	200	01	200
6	Post Office Box Setup Complete	862	02	1725
	P.O Box	200	01	200
7	Cary Foster Bridge	562	02	1125
	Setup	475	01	475
8	High Resistance By Substitution Method Experiment	712	02	1425
9	G To A Conversion Setup	1072	02	2145
10	De'Sauty Bridge	483	02	967
		360	01	360
11	Resolving Power of Telescope	1871	02	3742
12	Ammeter(0-3 Amp)	130	02	260
13	Bar Magnet	50	02	100
14	Galvanometer	130	06	780
15	Rheostate	325	02	650
16	Resistance Box(1-5000)	110	08	880
17	Sodium Lamp Box Complete	255	02	510
18	Mercury Lamp Box Complete	135	01	135
19	Voltmeter	130	02	260
20	Spectrometer	350	01	350
21	Optical Bench	200	01	200
22	Slotted wts.(500x5) Kg	250	01	250
23	Potentiometer	400	01	400
24	Resistance Box	750	02	150
			Total Amount	233347